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EITHER VWVANWALGETET
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O RDEN FIEEREFEAI0N

(1){9x—5(x+y)=-3
3x—4y=-2

Il
Ul

(2){2(x—2y)— y=3
x + y

(3){2(x+y)—3y=-6
3( x + 1) + 2y=1

(4){3(x—y)+2y=22
6 x — 5( y + 2) 37
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12 x — 15 x = -9
- )12 x — 16 y = -8
y = -1
y = -1
y = -1 ZOICRALT,
4 x —5x( -1 ) = -3
4 x = -8
x = -2
(x, y)=6 -2, -
(2) HEEEIDL
2 x — 5 y =3
{". .5
® X1 - @ X 2T,
2 x — 5 y =3
- )2 x 4+ 2 y =10
7y = -7
y =1

y = 1 #QICKALT,

x + 1 X 1

3) HzEBEILHL
{ 2 x - y
3 x + 2 y
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EIATEL

d x 2 + @ X 1T,
4
3

« - 2 y = -12
+) « + 2 y =2
7 x = -14
« = -2
« = 2 #&OIRALT,
Sy +2x( 2 ) = -6
y =2
(x, y)=(¢66 -2 , 2
(4) Hz=BHEHIDL
3 x — oy = 22
{6X—5y=47
® x5 - @ X 17T,
15 x — 5 y = 110
- ) 6 x — 5 y =47
9 x = 63
x =7
x =7 ZOICKALT,
-y +3x 7 =22
y = -1
(x, y)y=06 7, -

H|ETEZSHZEZH T
http://chugaku.manabihiroba.net/

I AN FHEEE-T



